20258 % 187] 1xFaLAl (2)shd
HS el 2k H & HS ==
1 @ 3 10 @ 4
2 @ 3 11 ® 4
3 ® 4 12 © 3
4 D 4 13 @ 5
5 ® 5 14 © 3
6 ©) 5 15 ® 4
7 @ 3 16 @ 4
8 @ 3 17 D 4
9 @ 4 18 ©) 5
MAEZ|E
HE et o
(22ES)
MEHS 471 3 FE2XMT QS
MEH?2 Q, © 3 =M E2|H 0¥
MEFS3 55 4 | =EEs g
(ZholIM A= (222 —3x+a)— (2 +3)
=2>—324+a—3 - 25
(holM 4 = [2r—p+ L] 2
X X
) = 2x-b+%)><%:m2—%m+2 - 2H
EE b 7
x2—3x+a—3:x2—§m+20|f—}.
= &= 0|AFA| 22— 3z +20[1, - 13
a—3=20|22 4=5, 3:%0|E§ b=6
- 2t 1EY B 23
BEA 30—3z> 22— 152 EH
30415 > 5z, z < 3“215 - 2H
DtESH=E AIei=71 374 ofslo|=2=2
5 3at15 _ om| T
5
3a+15<20, 3a<5 0|22 - 2H
a< gou:}. - 1A
MEe Y 28 o2t 311 - 1
RSAE AP
70000 + 3000z > 2 (50000 + 1000z )0| 22 - 2X
=FS46 (70000 + 30002 > 100000 + 20002 6
1000z > 30000, = > 30 - 28
M2t 3170 = of&=olel S&ZETII EHAlolg
SxFTECt gotalct, -1




